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D

Q:65
Topic Name:Chemistry-Section A



ItemCode:501165
NaCl o 42.12% (wiv) GlARl 215 Uls5HU AUlde] 21d8UA 10 5al15HL 53 9. dl
NaCl of 241 {16 Ulee] 38 Y& 211
A4 : 2Rl £ Na = 23.0 g mol .,

Question: 2118714 £91 C1=35.5 g mol']

A 36 mmol L7

B 36 mol L

C 1440 mol L™}
D 1440 mmol L™!

Q:66
Topic Name:Chemistry-Section A

ItemCode:501166
A11 & (a4 =]l 1136l B. B 594 (A) WA 51281 (R) A2l [HE2ild 341 8.
5ol A: 2 5eloweted] uaH w5201 We1@d] «Alg2loset 52l 216 B,
SIR8LR: 2p 58541 2841 il [534%etell UIR 5A521eil dy 58521e1-58 521
wy 5Bl Wed B,

Question: GU 5t (At lefl=tl Aeeli {12 w11Qell [dsafluiell MRl odle Yt 530,

A i) A A R ALY, wa R 3 Asfl AR 1] B.
B Gio] A sl R YIUL D, Ug R W Al UR{] uuydl «1edl.
C AHE D, U R AU «teil.

D A ypR|eefl Uidr AR D.

Q:67
Topic Name:Chemistry-Section A

ItemCode:501167

O EETOF: £IUE NN
AR T ol
A ASude I FeCO;
B. HaYlEe (HaslHe) II. CuCO; Cu(OH),
C. ¥l82ee . Zn$
D. 38H(8e] IV. ZnCO;

Question: =il L 10l [As@ilHiel] AR a1 Yrie 52
A A-L B-II. C-III. D-IV
B A-IIL B-IV. C-II. D-I
C A-IV. B-III. C-I. D-IT
D A-L B-II. C-IV, D-III

Q:68
Topic Name:Chemistry-Section A

ItemCode:501168
o2 & (a4l w0gl .
(a8l I: CuS0,.5H,041 Cu-0 vidl sl 8.

(A8 11: CuS0,.5H,0M 51UR 21Ut Cu(D) AUIE AdaLldl (€115 0- e $-

u[41[2d (921151 81U B.
Question: U5t (At loflotl g6l «{1A w1106l ([Aseflyiell HRD wdle Uit 530,

A 6o [qylel 1 [Qulet 1T HIUL B,
B e} [qlel 1 24e) [Ats 1T uIl21 D).
C (aulel 1 1Y 8. uid [Qule muilg .

D [(qylel Uil B, Udd [qdlst 1 AR B.

Q:69



Topic Name:Chemistry-Section A

ItemCode:501169
Wdlel] (Backing). 512215 w4l Hldlll 151 US| stedlate Wstidet oAt il
Question: 54U M S1%2 & 7

A 55d Hldl=ll 1Sl

B g5d dldlsfl 24151 4a s12ls Als)

C 55 dldlet]l H151 2= Wid L] H1SL

D uyiqsfl 151, 512215 A1S1 e Hldlfl 1S

Q:70
Topic Name:Chemistry-Section A

ItemCode:501170
BrF 5 QM1 Headdl uRnui wrieigsis 2oudl)ell vl 21 w15,

Question:
A 0, [EAslelly #uddla
B 1, [Uzdlse

C 2 .dqdd T-ulslR
D 1,994 T-A1512
Q:71

Topic Name:Chemistry-Section A

ItemCode:501171
Quesﬁomuﬂil (0| 5] 539 215 odlRlet Alowels] glaidl 2aetld 2] uejol Q35 &2 2

A NaBH,

B
C BzHﬁ
D

Q:72
Topic Name: Chemistry-Section A

ItemCode:501172
Ues SRSULES 2 Ug[Nd sdl=ll Hes 8. s0, 21 R4S a1 usl yua
d waieel2 8. Ul 24 2yul eatlad] ulsul B 21[s anlso, <l 514

Question: 212 2 d 2llyl.

A 2505 +0; — 250,

B SO,+0;— SO;+0,

C SO, +H,0,—H,50,

D 250,+0,_2H,0— 2H,S0,

Q:73
Topic Name:Chemistry-Section A

ItemCode:501173
Question: “11 3 AIAEHi] 521 s161T52UUe1 Ay @Rl B 2
A =<nc,‘n,
@
B OCH,
e - @

C H,Co

Q:74
Topic Name:Chemistry-Section A



ItemCode:501174

@ + {_-.H_.L_“:{-..“:(_-] M'(\' 1\;‘..1.,[ ‘ﬂl"."ff

Question: 22 11| 516{{31 141 B Guredl ulsuHi ol B q 20lH).

A &
CH,CH, CH,
B &
CH,CH,
C| &
CH,— CH —CH,

®
CHCH,CH,

Q:75
Topic Name:Chemistry-Section A

ItemCode:501175
UAloget o1l G UHELR2S (A) WA (B) B v1RG1A £01 184 g/mol H WA ded sl
6201 el 52.2% C. 4.9 % H 2=\ 42.9% Br 8. Be] KMnO,, 45 21501521
53l vlejsil Aol o5 B US W p-6llHIGeA185 W[HS WU B, YHU2S A"
2 uslel (suleild 8 w4 vesleldls AgNO; 418 24 sl #4191 dlaw 2214l
Question: 21AAU AU 8. MEeSs ‘A usl ‘B’ vefsH 2AlHL.

A CH,Br
CIH,

H,C-CHBr-C.H, and

B CH,Br CH EL‘H_,_
CH,
and
Br

C CH,CH,

H,C-CHBr—-C.H, and ©

Br

D CH,CH,

and H,C—CHBr—CH,

Br

Q:76
Topic Name: Chemistry-Section A

ItemCode:501176

Question: 1 [1ellele] (85651522 165158 52l .......
A 1ol W U2 [Aretluet AI8 HIesUERS «{lu)

W [sls ulsul olg (gldas A48+

=

C AYI65 ofluoy
tel 12t Al 21 Alootel 4 GUR

=]

Q:77
Topic Name: Chemistry-Section A



TItemCode:501177
o2 & [qelef] 2106l D WS o 52U A 93 2o Wf|olel 51201 R 93 Quid 536 B,

50l (A) : 35le1 2 Uld[wRe2 vgdsef GelenL 8.
SR8 R) : 551 A Selldled 2q 4519 wa 2B s w715 HleAlHRel] wag B,
Question: BU 5l & (At loflstl 2iee{ui 1<l Aoy [asey 2.

A i A AR UL, WA R 3 Al R0 1l B,
B aio] A sl R UL D, Uq R W Al AR uudl «tedl.
C AR Y. UG R ¥ AR el

DAY otell, g R W U1 B

Q:78
Topic Name:Chemistry-Section A

ItemCode:501178
Question: ML [2717F S8 1281 % clluletefl wettdld g -12fl q.

A [(gldus oiRRel
B q[dus oiglal

C ylus syl
D ydels iyl

Q:79
Topic Name:Chemistry-Section A

ItemCode:501179
Question: ST UA=NE AA 2ulofluilate] (M8l 2Alef Gels2 8 2

A %q(l-(eil

B %d<il2l5

C sHElERS]

D Yle5 deellee

Q:80
Topic Name:Chemistry-Section A
ItemCode:501180
A5 wslulels gi1rell oraleinsyal ¢lawmi 20112 BaCl, sliidiMi w19 AR
Ube AU HA B 23 11 Hbe 18U He HOMI 201009 1] 2419 AR
claeils i H1ddl 41y x Gedst &l 8. dl 241 vis1ef[es etiRul &4
Question: e 1Uo] 2[lH).

AT
B 5052
C g2~

Q:81
Topic Name:Chemistry-Section B
ItemCode:501181
W5 Yl=AH] 0.90 g udlEl Uil d«fl wisll=ll ario 18 27° ¢ Ada-iui .
YIR{lef 2ictst ei™ £41R1 275 ¢ B 32.0 Torr 8. %3 UlHs] 56 HUE] 52 IMi
w1Q AR At ee1l mad] wdl Hiz 3eds ualsl wiwfle oimfleiast g
8. ol ulef o udlel wielle] cirsdletdet e, dl ulste st L [-1%) 51l
yuils)
(U4 : R = 0.082 L atm K mol™})
Question: 1] WIBTlef 56 20190 w4 iRl el B w1l cirsy el Ay il ad 8.

Q:82
Topic Name:Chemistry-Section B



ItemCode:501182
2.2 gollf2Y HISUISS (N,0) 1 atm o1l U0 6418 e 310 K ol 270 K Yl 551 2144410 B. 5165 51281 414 217.1 mL &l 167.75 mL Yl el
B usHUI Aid3ls QHi adl 38R AU R —x T 8. dl x o Y& 2Nl [t st ytlsui)
A1 ; 2 1% £91 N =14 g mol™! and of O = 16 g mol™!.

Question: HLER2 G¥L &ML N;0 100 T K-!mot )

Q:83
Topic Name:Chemistry-Section B

ItemCode:501183
1.5 Hlad 2g518¢] UIR{lHi ¢lal Hie Gesdst (oigel]l Gadel 4K 8. 4.5 Hlad
¢ 51otet L WlflHistl g1l U2 611 [ClgHi vqstuet 4K 8. o) Hletet Gaitst
WUN[S ved HIEG W deide] WA S5e1] IR (K Kp) .

Question:

Q:84
Topic Name:Chemistry-Section B
ItemCode:501184
208 K 0l 5N w10g ulsal 42 dlz(-21ug
Pt| H, (g.1 bar)| H (uq]”(‘u:' (aq) | Cu(s)
031V 8. 211 VR1[S5 ¢lartsil pH HIgH usl. 2R cu?” of Aigdl 10% m . dl
x ol &Y

(Mqu : E° 50 =0.34V o 2303RT _ .00 V)
Question: Cu™" /Cu '

Q:85
Topic Name: Chemistry-Section B
ItemCode:501185
k= (6.5%10712571)e 26000K/T & vy |o{y 1. %] 41 U521 AA1%¥el A<l [Ael2et
Y[2 efd M 19 8. A[5u5221 (5 w41 ulsuLHIR2 kJ mol!
[1%) 5011 YRI[5HI]
Question: (PUE : R =8.314 TK 'mol ™)

Q:86
Topic Name:Chemistry-Section B
ItemCode:501186
[MnBrg]* ofl §5c aulet Yod (524 ulsu Al B.M. («1%)5¢11 YRilsui

UGS u{15).

Question:

Q:87
Topic Name:Chemistry-Section B

ItemCode:501187
TR RV EXTIRIVEN
CoCl; - x NH3 + AgNO; (aq) —

Quesﬁonﬁa’t AgClell A HURL A Ud Al dl x of Y& 919\

Q:88
Topic Name:Chemistry-Section B

ItemCode:501188
w119l Yot €H,,0 Hi &6l (519 v11es18lq ()il vl 23

Question:

Q:89
Topic Name:Chemistry-Section B

ItemCode:501189

w109 y(suUl
(i) K5Cry04
(il) CallsMeBr vy
——)
HO@ L X'yt oflusy
(W)H", Gy

Question: GU5et AA1%et XU 284l Sp? 2501 UIAEL s1efei(1]) vl

Q:90
Topic Name:Chemistry-Section B



ItemCode:501190

w109 y[sy M
O

(i) OH P FEA TR AT
(i) 13w

Question: U2 =111 ‘P*HI &1%2 el x §A52ledlo{l vl



